| Efficiency vs Dxy |
.02
O | : : : : : : : : :
0 1| R A S
< S S S | | N S N
@16:—""?"""‘5 """" R R | R S S
K S A S ¥ I N
O e TR 1S S
O R
00
0008
000+ L o

eff

0004 bbb
0002 ¥

.9 J_O_;IIII.IIII.IIII.IIII. ||.||||.||||.||||.||||
A1) USRS SUSUR VRS S | O T S S
(s : : .
1F----- TR TR ERTTIES: SEPEE e L
O 1 e e S

0 E=50-15-10 =5 0 5 10 15 20 25

TP dxy (cm)

—=— DQM_CKF_XiMinusNOPU_base

| Efficiency vs Dz |

—— DQM_CKF_XiMinusNOPU_retrainOldFiles125_v2_prelimWPM_epochO

nND.02
S

10 20 30
TP dz (cm)




	Contents
	Page 1


